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Engllsh (Compulsory)

= 10th’ Class 2016

(Objective Type)

Time: 20 Minutes Group- Max. Marks: 19

Note: Four possnble answers A, B, C and D to each

question are given. The choice which you think is

correct, fill that-circle in front of that question with
Marker or Pen ink in the answer-book. Cutting or
filling two or more circles will result in zero mark.in

that question.

Choose the correct form of verb and fill up the

bubbles sheet: 7 (5)
1-1- - If he offers me a job, I ——-it.
_(a) accept ~ ~(b) will accept ¥
(c) would accept (d) would have accepted
2-  How long have you been ---- here?
(a) wait - (b) waited
S (c) waits ~ (d) waiting 4
3- They --- tea every morning.
~ (a) drink v/ (b) drank o .
(c) .is drinking (d) have dru_nk 3 o
4-  Thesun-—inthewest. . PRrEeN
. _(@set ©  (b)setsV
| (c) setting ~(d) will set
.5-  They always --- back home late.
~ (@) came. (b)) comes -
. (c) havecome  (d) come vV
Choose the word with correct spelling and fill .up
the bubbles sheet: - (4)
6- (a) Prasoner (b) Prisoner v = |

(c) Presoner (d) Prisonor
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~7-  (a) Might v ‘(b) Mieght
(c) Meight (d) Maight
8- (a) Exchange v (b) Exchenge
(c) Excheng - (d) Ekschange
9- (a) Prodaction (b) Production v
(c) Prodoction (d) Pruduction
~ Choose the correct option and fill up the bubbles

6 -

sheet:
10- = The antonym of ‘suffering’ is ----.
-~ (a) distress ' (b) pleasure V'
(c) anguish (d) sorrow

11- The antonym of ‘fail’ is --—-.
(a) unsuccessful  (b). succeed V'

(c) flourish (d) develop
- 12- They are faithful --—-her. =
@tV (b) with . St
~ (c) on Sy of T
13- The synonym of ‘current’ is ----. - |
(a) dated (b) old
| (c) new (d) up-to- -date v
- 14-"" He was accused ---- theft. .
@to . (b) with
() for () ofV
- Choose the correct option accordmg to the
~____ grammar and fill up the bubbles sheet: (5)
15-° Someone ate my cookles The underllned word
_|salan ,

. (a) personal pronoun (b) relatlve pronoun
(c) definite pronoun:  (d) indefinite pronoun v
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- -

18-

18-

19

| am afraid | cannot afford to spend too much money.

- The underlined part of the sentence is a/an:

(a) gerund "~ (b) participle
(c) infinitive v (d) none of these .
How lang ---- you been working in the garden?

(@ has - (b) have V
~(c) will (d) shall .

Our job is to keep the audience happy The
underlined word is a / an ---- noun.

(a) collective v (b) concrete

(c) abstract ~ (d) proper .

The room was full so | had no place to Slt Itisa"
---- Sentence.

(@) simple - (b) cpmpound

" (c) complex v - (d) none of these -
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